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Suppose we take the graph of a positive
function fetch from Catcall to CHCH) doll
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and rotate it about the x-axis
some

The result will be a surface
, a

revolution

"
scarface of revolution
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How can we find the area of the

resulting surface revolution ,
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We divide our curve into
many tiny pieces,

each of

length ds .
We then rotate each tiny piece about they

axis to get a
" slanted ring

"

We find the area of the surface of revolution

by adding the areas of the rings Casing an integral)

FtFormula for the area
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Find the surface area of a sphere of radius

R ( R is a constant ) .
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